Battery Box




Battery Box

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1179366-NLA | NLA - Kit, Battery Box Top w/ Latch 1 1
2 Battery Box Top 1 1
3 Battery Box Handle 1 1
4 Latch Housing 1 1
5 Latch Handle 1 1
6 Spring, Compression (15/32 x 31/64 x 3/64") 1 1
7 Screw, Shoulder Socket Head 1 1
8 Locknut (M4 x 0.7) 1 1
9 Washer (1/4 x 1/2 x 1/16") 1 2
10 Screw, Pan Head, Tap (8-16 x 1/2") 1 8
11 Washer, Flat (7/32 x 13/32 x 1/16) 1 4
Instruction Sheet, Battery Box 1 1
12 B 1179364-NLA | NLA - Kit, Battery Box Bottom w/ Harness 1 1
13 Battery Box Bottom 1 1
14 Battery Harness Assembly 1 1
15 Screw, Phillips Pan Head (M3.5 x 0.6 x 20mm) 1 2
16 Nut, Hex (M3.5 x 0.6) 1 2
Instruction Sheet, Battery Box 1 1
17 C 1179365-NLA | NLA - Kit, Circuit Breaker Harness w/ Hardware 1 1
18 Circuit Breaker Harness 1 1
19 Screw, Hex Flange Serrated (#10-32 x 1/2") 1 2
20 Nut, Hex Flange Serrated (#10-32) 1 2
21 Washer (#10 Flat) 1 2
Instruction Sheet, Battery Box 1 1
22 D 1179367-NLA | NLA - Kit, Battery Cable 1 1
23 Battery Cable Assembly 1 1
24 Screw, Phillips Pan Head (M3.5 x 0.6 x 20mm) 1 2
25 Nut, Hex (M3.5 x 0.6) 1 2
Instruction Sheet, Battery Box 1 1
26 1182503 Battery Charger, Off Board, 3A w/ Ferrite 1 1
NOTE: A -Includes items 2 - 11.
B - Includes items 13 - 16.
C - Includes items 18 - 21.
D - Includes items 23, 24, and 25.




